..DID: 8296 ..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 28 INITIAL EFFECTIVE DATE: 05/01/99 STAMPS: Cancelled by Statement NGV Number 29 Effective 06/01/1999 RECEIVED: 04/27/99 STATUS: Cancelled EFFECTIVE: 05/01/99

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Owego Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate-		ket Based ling Rate	Applicable -Gas Vehic		
	per per (Therm Equiv	-	per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.70184	\$0.800	\$1.01666	\$1.159	\$0.86416	\$0.985
Category 1B	\$0.70184	\$0.800	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.70184	\$0.800	\$0.87333	\$0.996	\$0.78600	\$0.896
Category 2A	\$0.72206	\$0.823	\$1.01666	\$1.159	\$0.88438	\$1.008
Category 2B	\$0.72206	\$0.823	\$1.54639	\$1.763	\$1.18000	\$1.345
Category 2C	\$0.72206	\$0.823	\$0.87333	\$0.996	\$0.80621	\$0.919
W I T	Н	С О М	PR	E S	S I O	N :
Category 3A	\$0.59493	\$0.678	\$1.01666	\$1.159	\$0.75762	\$0.864
Category 3B	\$0.59493	\$0.678	\$1.54639	\$1.763	\$0.79341	\$0.905
Category 3C	\$0.59493	\$0.678	\$0.87333	\$0.996	\$0.69793	\$0.796
W I T	но и т	C	O M P	R E	S S I O	n :
Category 3A	\$0.57471	\$0.655	\$1.01666	\$1.159	\$0.73741	\$0.841
Category 3B	\$0.57471	\$0.655	\$1.54639	\$1.763	\$0.77319	\$0.882
Category 3C	\$0.57471	\$0.655	\$0.87333	\$0.996	\$0.67772	\$0.773
Category 4	\$0.72206	\$0.823	\$1.01666	\$1.159	\$0.88438	\$1.008

PAGE: 2

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Goshen Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivla	Ceil: l. per	et Based ing Rate per Gal. Equivlnt			
Category 1A	\$0.56027	\$0.639	\$1.00132	\$1.142	\$0.85112	\$0.970
Category 1B	\$0.56027	\$0.639	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.56027	\$0.639	\$0.86037	\$0.981	\$0.74433	\$0.849
Category 2A	\$0.58046	\$0.662	\$1.00132	\$1.142	\$0.87131	\$0.994
Category 2B	\$0.58046	\$0.662	\$1.54639	\$1.763	\$1.17998	\$1.345
Category 2C	\$0.58046	\$0.662 \$	\$0.86037	\$0.981	\$0.79452	\$0.906
WITH	I (с о м	P R	E S	S I O	N :
Category 3A	\$0.49700	\$0.567	\$1.00132	\$1.142	\$0.76472	\$0.872
Category 3B	\$0.49700	\$0.567	\$1.54639	\$1.763	\$0.79338	\$0.905
Category 3C	\$0.49700	\$0.567	\$0.86037	\$0.981	\$0.69395	\$0.791
W I T H	Ο U Τ	С	О М Р	R E S	S I O	N :
Category 3A	\$0.47681	\$0.544	\$1.00132	\$1.142	\$0.74454	\$0.849
Category 3B	\$0.47681	\$0.544	\$1.54639	\$1.763	\$0.77319	\$0.882
Category 3C	\$0.47681	\$0.544	\$0.86037	\$0.981	\$0.67376	\$0.768
Category 4	\$0.58046	\$0.662	\$1.00132	\$1.142	\$0.87131	\$0.994

PAGE: 3

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Lockport Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Gal. Therm Equivlnt	. per per Gal	. per p	
Category 1A	\$0.74871 \$	\$0.854 \$1.01666	\$1.159	\$0.86416 \$0.985
Category 1B	\$0.74871 \$	\$0.854 \$1.54639	\$1.763	\$1.15979 \$1.322
Category 1C	\$0.74871 \$	\$0.854 \$0.85852	\$0.979	\$0.77266 \$0.881
Category 2A	\$0.76871 \$	\$0.877 \$1.01666	\$1.159	\$0.88417 \$1.008
Category 2B	\$0.76871 \$	\$0.877 \$1.54639	\$1.763	\$1.17979 \$1.345
Category 2C	\$0.76871 \$	\$0.877 \$0.85852	\$0.979	\$0.79267 \$0.904
W I T H	I C	O M P R	E S S	I O N :
Category 3A	\$0.62502 \$	\$0.713 \$1.01666	\$1.159	\$0.75393 \$0.860
Category 3B	\$0.62502 \$	\$0.713 \$1.54639	\$1.763	\$0.79320 \$0.904
Category 3C	\$0.62502 \$	\$0.713 \$0.85852	\$0.979	\$0.70910 \$0.809
W I T H	O U T	С О М	PRES	SION:
Category 3A	\$0.60502 \$	\$0.690 \$1.01666	\$1.159	\$0.73393 \$0.837
Category 3B	\$0.60502 \$	\$0.690 \$1.54639	\$1.763	\$0.77319 \$0.882
Category 3C	\$0.60502 \$	\$0.690 \$0.85852	\$0.979	\$0.68909 \$0.786
Category 4	\$0.76871	\$0.877 \$1.01666	\$1.159	\$0.88417 \$1.008

PAGE: 4

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

<u>Elmira Area</u>

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga Therm Equivi	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicabl -Gas Vehi per Therm		
Category 1A	\$0.73583	\$0.839	\$0.99035	\$1.129	\$0.84180	\$0.960
Category 1B	\$0.73583	\$0.839	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.73583	\$0.839	\$0.85111	\$0.970	\$0.76600	\$0.873
		40.0C0	40.0002F	41 100	40.06100	40.000
Category 2A	\$0.75583	\$0.862	\$0.99035	\$1.129	\$0.86180	\$0.983
Category 2B	\$0.75583	\$0.862	\$1.54639	\$1.763	\$1.17979	\$1.345
Category 2C	\$0.75583	\$0.862	\$0.85111	\$0.970	\$0.78600	\$0.896
W I T 3	Н	С О М	PR	E S	S I O	n :
Category 3A	\$0.58951	\$0.672	\$0.99035	\$1.129	\$0.75734	\$0.864
Category 3B	\$0.58951	\$0.672	\$1.54639	\$1.763	\$0.79320	\$0.904
Category 3C	\$0.58951	\$0.672	\$0.85111	\$0.970	\$0.72429	\$0.826
W I T H	O U T	C	O M P	R E	S S I O	N :
Category 3A	\$0.56951	\$0.649	\$0.99035	\$1.129	\$0.73734	\$0.841
Category 3B	\$0.56951	\$0.649	\$1.54639	\$1.763	\$0.77319	\$0.882
Category 3C	\$0.56951	\$0.649	\$0.85111	\$0.970	\$0.70429	\$0.803
Category 4	\$0.75583	\$0.862	\$0.99035	\$1.129	\$0.86180	\$0.983

PAGE: 5

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Combined Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate per per Ga	Cei al. per	ket Based ling Rate per Gal.	Applicable -Gas Vehic per	cle Rate- per Gal.	
	Therm Equivl	.nt Therm	Equivlnt	Therm	Equivlnt	
Category 1A	\$0.59347	\$0.677	\$0.98158	\$1.119	\$0.83434	\$0.951
Category 1B	\$0.59347	\$0.677	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.59347	\$0.677	\$0.85852	\$0.979	\$0.77266	\$0.881
Category 2A	\$0.61347	\$0.700	\$0.98158	\$1.119	\$0.85435	\$0.974
Category 2B	\$0.61347	\$0.700	\$1.54639	\$1.763	\$1.17979	\$1.345
Category 2C	\$0.61347	\$0.700	\$0.85852	\$0.979	\$0.79267	\$0.904
WITH	ł	с о м	PR	E S	S I O	n :
Category 3A	\$0.58951	\$0.672	\$0.98158	\$1.119	\$0.74535	\$0.850
Category 3B	\$0.58951	\$0.672	\$1.54639	\$1.763	\$0.77696	\$0.886
Category 3C	\$0.58951	\$0.672	\$0.85852	\$0.979	\$0.70984	\$0.809
W I T H	Ο U Τ	C	O M P	R E	S S I O	N :
Category 3A	\$0.56951	\$0.649	\$0.98158	\$1.119	\$0.72535	\$0.827
Category 3B	\$0.56951	\$0.649	\$1.54639	\$1.763	\$0.75696	\$0.863
Category 3C	\$0.56951	\$0.649	\$0.85852	\$0.979	\$0.68984	\$0.787
Category 4	\$0.61347	\$0.700	\$0.98158	\$1.119	\$0.85435	\$0.974

PAGE: 6

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Champlain Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate- per per G Therm Equiv	Cei al. per	ket Based ling Rate per Gal. Equivlnt	Applicabl -Gas Vehi per Therm		
Category 1A	\$0.61604	\$0.702	\$1.00132	\$1.142	\$0.85112	\$0.970
Category 1B	\$0.61604	\$0.702	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.61604	\$0.702	\$0.86037	\$0.981	\$0.77433	\$0.883
Category 2A	\$0.63604	\$0.725	\$1.00132	\$1.142	\$0.87112	\$0.993
Category 2B	\$0.63604	\$0.725	\$1.54639	\$1.763	\$1.17979	\$1.345
Category 2C	\$0.63604	\$0.725	\$0.86037	\$0.981	\$0.79434	\$0.906
W I T	Н	С О М	PR	E S	S I O	n :
Category 3A	\$0.45962	\$0.524	\$1.00132	\$1.142	\$0.78682	\$0.897
Category 3B	\$0.45962	\$0.524	\$1.54639	\$1.763	\$0.79320	\$0.904
Category 3C	\$0.45962	\$0.524	\$0.86037	\$0.981	\$0.69909	\$0.797
W I T H	O U T	C	О М Р	R E	S S I O	n :
Category 3A	\$0.43962	\$0.501	\$1.00132	\$1.142	\$0.76682	\$0.874
Category 3B	\$0.43962	\$0.501	\$1.54639	\$1.763	\$0.77319	\$0.882
Category 3C	\$0.43962	\$0.501	\$0.86037	\$0.981	\$0.67909	\$0.774
Category 4	\$0.63604	\$0.725	\$1.00132	\$1.142	\$0.87112	\$0.993

PAGE: 7

STATEMENT OF NATURAL GAS VEHICLE RATE

May 1, 1999

Binghamton Area

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate	Ceil	ket Based Ling Rate	Applicable -Gas Vehic	le Rate-	
	per per Gal Therm Equivlr		per Gal. Equivlnt		per Gal. Equivlnt	
Category 1A	\$0.69448	\$0.792	\$1.01666	\$1.159	\$0.86416	\$0.985
Category 1B	\$0.69448	\$0.792	\$1.54639	\$1.763	\$1.15979	\$1.322
Category 1C	\$0.69448	\$0.792	\$0.87333	\$0.996	\$0.78600	\$0.896
Category 2A	\$0.71448	\$0.815	\$1.01666	\$1.159	\$0.88417	\$1.008
Category 2B	\$0.71448	\$0.815	\$1.54639	\$1.763	\$1.17979	\$1.345
Category 2C	\$0.71448	\$0.815	\$0.87333	\$0.996	\$0.80600	\$0.919
WIT	н с	С О М	PR	E S	S I O	N :
Category 3A	\$0.58867	\$0.671	\$1.01666	\$1.159	\$0.63653	\$0.726
Category 3B	\$0.58867	\$0.671	\$1.54639	\$1.763	\$0.79320	\$0.904
Category 3C	\$0.58867	\$0.671	\$0.87333	\$0.996	\$0.63171	\$0.720
W I T H	0 U T	C	О М Р	R E S	S S I O	N :
Category 3A	\$0.56867	\$0.648	\$1.01666	\$1.159	\$0.61653	\$0.703
Category 3B	\$0.56867	\$0.648	\$1.54639	\$1.763	\$0.77319	\$0.882
Category 3C	\$0.56867	\$0.648	\$0.87333	\$0.996	\$0.61171	\$0.698
Category 4	\$0.71448	\$0.815	\$1.01666	\$1.159	\$0.88417	\$1.008